Counting Coins Word Problems Suitable ¢
for 1st Grade

Solve the counting coins word problems.
4 A

1. James has 1 nickel, and he pays 2 cents for a candy. How much change
would he get back?
Answer: 5-2=3. James would get 3 cents back.

2. Alice already has 1 nickel, and her aunt Helen gives her 3 pennies. How
much money does she have altogether?
Answer:

3. John has 8 cents, and his father gives him a nickel and a penny. How much

money does he have altogether?
Answer:

4. Angel had 9 cents, but she lost a penny at the park. How much money does

she have left?
Answer:.

5. Romeo has 3 pennies. Juliet has 2 nickels. Who has more money?
Answer:

6. Venus has four pennies and a nickel. Mark has 15 pennies. After Mark uses

10 pennies to buy gummy bears, who has less money?
Answer:
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